Efficiency vs Dxy(PV)
0.1 —

0.00F- -
0.08F--
0.07F--
0.06F- -
0.05F--
0.04F---
0.03F--
0.02F--
0.0 -

L LN N L LAY LA LR LA L

L —

B=--i

0 E=30-15-10 -5 5

—=— DQM_TT_MS

—— DQM_TT_MS_detT
—— DQM_TT_MS-detT1
[ Efficienc] —— DQM_TT_Ms_detTo9

A 5' N '- il
E'.' if ‘I :I : " 1)
!H : : h

| IH |

Il |H\F HHHI m
itk {10011
0.8 4 j 4 0. 1

Efficiency vs Dz(PV)
0.2p

0.18F
0.16F
0.14F

Lk i

0.04kgn lE|-H-p -3 { :
0.02F ||t %k f -+ --FY =

1.0

Efficiency vs Dz(PV)
0.2

0.18f+
0.16F-+
0.14F-
0.12F- . : : :
P AT PR MRS B
0.08F- -4+ : :
o.o4:LJgr peeedegle N

0.02F1#

T

................

==
-
=&
—




	Contents
	Page 1


